INSTRUCTION MANUAL

GREENLEE.

A Textron Company

910
Wire Dispenser

Read and understand all of the instructions and
safety information in this manual before operating
or servicing this tool.

Register this product at www.greenlee.com
52042771 REV 1 © 2010 Greenlee Textron Inc.

6/10



@ GREENLEE.

910 Wire Dispenser

Table of Contents

SPECIfiCatioNS......cccceeeeiieeee e

Operation

Description

The Greenlee 910 Wire Dispenser is intended for
transporting and dispensing wire from wire spools.
For more information, refer to “Specifications” on
page 4.

Safety

Safety is essential in the use of Greenlee tools and
equipment. This instruction manual and any markings
on the tool provide information for avoiding hazards and
unsafe practices related to the use of this tool. Observe
all of the safety information provided.

Purpose of this Manual

This manual is intended to familiarize all personnel with
the safe operation for the Greenlee tool:

910 Wire Dispenser
Keep this manual available to all personnel.

Replacement manuals are available upon request at
no charge at www.greenlee.com.

All specifications are nominal and may change as design
improvements occur. Greenlee Textron Inc. shall not be liable for
damages resulting from misapplication or misuse of its products.

KEEP THIS MANUAL

Greenlee / A Textron Company

4455 Boeing Dr. ® Rockford, IL 61109-2988 USA e 815-397-7070



910 Wire Dispenser

@ GREENLEE.

IMPORTANT SAFETY INFORMATION

SAFETY
ALERT
SYMBOL

This symbol is used to call your attention to hazards
or unsafe practices which could result in an injury or
property damage. The signal word, defined below,
indicates the severity of the hazard. The message
after the signal word provides information for pre-
venting or avoiding the hazard.

ADANGER

Immediate hazards which, if not avoided, WILL result
in severe injury or death.

AWARNING

Hazards which, if not avoided, COULD result in
severe injury or death.

ACAUTION

Hazards or unsafe practices which, if not avoided,
MAY result in injury or property damage.

ACAUTION

Read and understand all of the
instructions and safety information
in this manual before operating or
servicing this tool.

Failure to observe this precaution
may result in injury or property
damage.

ACAUTION

Keep hands and feet clear when
loading and unloading wire spools.

Failure to oberve this precaution
may result in injury or property
damage.

i

ACAUTION

Load and unload sides equally.
Load bottom spindles first, and
unload top spindles first. An unbal-
anced or top-heavy load could
cause wire dispenser to tip over,
causing injury and property damage.
Failure to observe this precaution
may result in injury or property
damage.

ACAUTION

e Make sure bystanders are clear of the work area
when loading, unloading or dispensing wire.
Nearby personnel can be injured if wire dispenser
falls.

e Do not use the wire dispenser for wire with
damaged spools. Damaged spools may not turn
freely and may pull over the dispenser.

e Use only on a hard, flat, level surface.
¢ Do not exceed the rated capacity of this tool.

Failure to observe these precautions may result in
injury or property damage.

ACAUTION

Use this tool for manufacturer’s use only. Use other
than that which is described in this manual may

result in injury or property damage.

Note: Keep all decals clean and legible, and replace
when necessary.

Greenlee / A Textron Company

3

4455 Boeing Dr. ® Rockford, IL 61109-2988 USA e 815-397-7070



@ GREENLEE.

910 Wire Dispenser

Parts List
Key Part No. Description Qty
1 52034341 BaSE...ii e 1
2 52034342  Tree assembly......ccccoviiimieeiieiinneeneeene 1
3 52034343 Handle assembly .........cccceeeiiiiiiieenenne 1
4 Bolt, hex, 1/2-13 X 6 .eeveeeereeeeeeieeenee 1
5 Nut, Nylok, 1/2-13....ceeeeiiieeeeeeeee 1
6 90514882 Caster, 8" rigid ....cceevvvveeeiiieeeeiee e, 2
7 52034349  Caster, 8" swivel I0CK.....cccoeeiiiieeiienines 2
8 Screw, hex, 3/8-16 X 1......ccevverrvvvvnnne. 12
9 Nut, hex, reg. full, 3/8-16.........cccueee.. 12
10 Washer, lock, 3/8 ......ueeeeeeeeeieeeeeeninnnn. 12
11 52034350  Nipple, 1/2" conduit........ccceevvveerineenn. 10
12 52034357 Locknut, 1/2" conduit steel................. 10
13 Hitch pin, #8.....occeeeieeeee e 1
14 Bolt, eye, 5/16-18 ..o, 1
15 90550293 Pin, quick-release .......ccccccveeeeeenennennnnn. 1
16 50335898  Decal, identification ..........ccceceeieerieennne 1
Specifications
Height oo 57" (1,447.8 mm)
Width ..., 31.8" (807.7 mm)
Length oo 40" (1016 mm)
Weight ... 1251b (56.7 kg)
Capacity:

Ten 18" (457 mm) diameter spools, 14.2" (360.2 mm) wide
125 Ib (56.7 kg) per spindle (when balanced)
1,250 Ib (567 kg) total weight (when balanced)

Operation

1. Load wire dispenser sides equally, starting at the
bottom spindles.

2. Transport the unit by hand to the desired work
location.

3. Lock the swivel casters to prevent unwanted
movement.

4. Feed wire through the wire guide and adjust to
desired position.

5. Unload wire dispenser sides equally, starting with
the top spindles and working down.

GREENLEE.

A Textron Company

USA 800-435-0786 Fax:  800-451-2632
815-397-7070 Fax:  815-397-1865
Canada 800-435-0786 Fax:  800-524-2853

International +1-815-397-7070 Fax: +1-815-397-9247

4455 Boeing Drive ¢ Rockford, IL 61109-2988 e USA ¢ 815-397-7070
An IS0 9001 Company ® Greenlee Textron Inc. is a subsidiary of Textron Inc.

www.greenlee.com Printed in USA



